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1 Student’s ¢-distribution (40%)

Student’s t-distribution has the probability density function (pdf) given by

It

where v is the number of degrees of freedom and I is the gamma function. 3{%— R K¥(& &5 t _pdf - #A BT - v Ediap(z)) - 5HELsy
fit > M P bR SR I CE T o —, y—ESE - EIGERAA(legend) ~ gifEEE) - (E: T e R 2SS » AT

% v = +oollv = 10{C A - ZE[ELIR base graphi cs Eff:5l ggpl ot 2 A - ) (& 25 https://en.wikipedia.org/wiki/Student%27s_t-
distribution (https://en.wikipedia.org/wiki/Student%27s_t-distribution))
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Tables of the Poisson Cumulative Distribution

The table below gives the probability of that a Poisson random variable U with mean = & is less than or equal 1o x, That is, the table gives
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: €
P(X<x)=> A —
r=0 r!
A= 0.1 0.2 0.3 L4 0.5 0.6 07 .5 0.9 1.0 1.2 1.4 1.6 1.5

=
(]

0.9048 0.B187 0.7408 06703 06065 (05488 04966 04493 04066 03679 03012 02466 02018 01653
095953 09825 09631 09384 09098 08781 08442 08088 0.7725 0.7358 06626 05918 05249 04628
0.9958 09989 0.9964 09921 0.9856 09769 0.9659 09526 0.5371 09197 08795 08335 0.7834 0.7306
1.0000 099992 09957 09992 09982 09966 0.5%42 09209 0.9865 09810 09662 09463 09212 08913
1.0000 1.0000 1.0000 0.999%% 05998 09996 0.6592 0.9986 0.9577 09963 08923 09857 0.9763 0.9636
1.0000 1.0000 1.0000 1.0000 1.0000 1.0000 0.5969 0.9098 0.5507 09554 00085 0.9968 0.5840 0.9886
1.0000 1.0000 1.0000 1.0000 1.0000 1.0000 1.0000 1.0000 1.0000 09999 0.9997 0.9994 0.5987 0.9974
1.0000 1.0000 1.0000 1.0000 1.0000 1.0000 10000 10000 10000 10000 1.0000 09988 06687 0.6504
1.0000 1.0000 1.0000 1.0000 1.0000 1.0000 1.0000 1.0000 1.0000 1.0000 1.0000 1.0000 1.0000 O995%
1.0000 1.0000 1.0000 10000 1.0000 1.0000 1.0000 1.0000 1.0000 1.0000 1.0000 1.0000 1.0000 1.0000
2.0 2.2 2.4 1.6 1.8 .0 3.2 3.4 3.6 38 4.0 4.5 £.0 5.5

01353 01108 00807 00743 00608 00498 00408 00334 00273 00224 00183 00111 00087 0.0041
0.4080 03546 0.3084 02674 0.2311 01991 01712 |0 1468 01257 01074 0.0916 0.0611 0.0404 0.0266
0.6767 0.6227 0.5697 0.5184 04695 04232 03790 |0.3397 0.3027 0.2689 0.2381 01736 0.1247 0.0884
0.8571 0.8194 D.7787 0.7360 0.6919 06472 0.6025|05584 0.5152 04735 04335 03423 02650 0.2017
0.9473 09275 09041 Q8774 0.8477 0.8193 07806 |0.7442 0.7064 06678 06286 05321 0.4405 03575
0.89834 08751 05643 08510 08348 08161 08546 |0 AT0S 0.8441 08156 0.7851 0.702% 0.6160 05288
0.9955 0.9925 00884 0.9628 09756 0.9665 09554 10.9421 0.8267 090891 0.8693 0.8311 0.7622 0.6860
0.8585 09980 0.9567 05947 0.5519 09881 0.5832 |0.9769 0.5692 09555 059488 0.9134 0.B666 0.8055
0.9958 08995 09991 00085 09976 09962 090431098917 09883 09840 00786 09597 06319 080944
1.0000 09999 05558 0.9956 0.9993 099895 0.5982 |0.9973 0.5560 05542 0.9919 09825 09682 0.5462

101 1,0000 1.0000 10000 00609 09508 09997 005005]0.0992 0.5587 09981 00072 095933 0.0863 06747

11]1.0000 10000 1.0000 1.0000 10000 09999 05989 099558 09996 09954 09991 09576 098945 05880

12]1.0000 1.0000 1.0000 1.0000 1.0000 1.0000 1.0000 09999 0.9599 0.9998 00007 0.9992 0.9080 06955

13]1.0000 1.0000 1.0000 1.0000 1.0000 1.0000 1.0000 1.0000 1.0000 1.0000 09998 09937 09993 0.5983

14| 1.0000 1.0000 1.0000 1.0000 1.0000 1.0000 1.0000 1.0000 1.0000 1.0000 1.0000 09959 09998 09984

15| 1.0000 1.0000 1.0000 1.0000 10000 10000 1.0000 1.0000 1.0000 10000 1.0000 10000 09999 05988

16]1.0000 1.0000 1.0000 1.0000 1.0000 1.0000 1.0000 1.0000 1.0000 1.0000 1.0000 1.0000 1.0000 OS99

17| 1.0000 1.0000 1.0000 10000 10000 10000 1.0000 1.0000 1.0000 1.0000 1.0000 1.0000 1.0000 1.0000
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#i#t | ambda=2 | anbda=2.2 | anbhda=2. 4 | anbda=2.6 |anbda=2.8 |anbda=3 | anbda=3.2
## x=0 0.1353 0.1108 0. 0907 0.0743 0.0608  0.0498 0. 0408
## x=1 0. 4060 0. 3546 0. 3084 0.2674 0.2311  0.1991 0.1712
## x=2 0.6767 0. 6227 0.5697 0.5184 0.4695  0.4232 0.3799
## x=3 0.8571 0.8194 0.7787 0. 7360 0.6919  0.6472 0. 6025
## x=4 0.9473 0.9275 0.9041 0.8774 0.8477  0.8153 0.7806
## x=5 0.9834 0.9751 0.9643 0. 9510 0.9349  0.9161 0. 8946
## x=6 0. 9955 0.9925 0.9884 0.9828 0.9756  0.9665 0. 9554
## x=7 0.9989 0.9980 0.9967 0.9947 0.9919  0.9881 0.9832
## x=8 0.9998 0. 9995 0.9991 0.9985 0.9976  0.9962 0.9943
## x=9 1. 0000 0.9999 0.9998 0. 9996 0.9993  0.9989 0.9982
## x=10  1.0000 1. 0000 1. 0000 0.9999 0.9998  0.9997 0.9995

3 Poisson fii[RE E i (Poisson Limit Theorem) (30%)

SEHMA > B X, ~ Binomial (n, %). il

A\ A\ A\
P(Xn:w):C’f(f) (177) —° asn — oo
n n x!

JRE > Poisson BT —E 4B Binomial (n, 2 ) #)—(ER5AD -

#n =30, = 2.4 FIf RAJAIIGS (T THIT MRS E R B N FUIR S it B R, 5L F2%( dat a. fr ane ) 2RERFEPoisson R E 1, H:
TR — R di ff ) R e 2 S EHE -

x binom al . pnf poi sson. pnf di ff
1 0 0. 0820 0.0907 0.0087517497
2 1 0.2138 0.2177 0.0038982090
3 2 0. 2696 0.2613 0.0083375766
4 3 0.2188 0.2090 0.0097959196
5 4 0.1284 0. 1254 0.0030235072
6 5 0. 0581 0.0602 0.0021224767
7 6 0. 0210 0.0241 0.0030372714
8 7 0. 0063 0.0083 0.0019823213
9 8 0.0016 0. 0025 0.0009083534
10 9 0. 0003 0. 0007 0.0003270817
11 10 0. 0001 0. 0002 0.0000976313



## x binomi al . pnf poi sson. pnf diff
## 1 0 0.0820 0. 0907 0.0087
#t 2 1 0.2138 0.2177 0.0039
## 3 2 0. 2696 0.2613 0.0083
## 4 3 0.2188 0.2090 0.0098
## 5 4 0.1284 0.1254 0.0030
## 6 5 0. 0581 0.0602 0.0021
## 7 6 0. 0210 0.0241 0.0031
#t 8 7 0. 0063 0. 0083 0.0020
## 9 8 0. 0016 0. 0025 0.0009
## 10 9 0. 0003 0. 0007 0.0004
## 11 10 0. 0001 0. 0002 0.0001

4 #(EEIMITT) (10%)

BRAREHIERED T 8255 444 R exant. pdf | J T 2255 4 44- R exanl. doc | i BfF o DUFBERE M MIkTeX/LaTeX »
BRI AR A L R

1 (@-n)?

flz) =



